Government of Tripura
State Council for Educational Research & Training
Avouynagar , Agartala , Tripura

No . F.1(8) / Dir- Cell / SCERT / Con / 2019 / Dt. 12" July , 2019 .

Memorandum

Taking into account of the learning levels as appeared from the outcomes of
conducted Baseline Survey from 25" February , 2019 to 28" February, 2019, among the
students of Class Il to VIII in all the Government and Government Aided Schools, the students
were grouped into following categories namely (a ) ‘Sadhana’, (b) ‘Prerana’ , ( ¢) Class
Appropriate students and arrangement made to impart specialized inputs accordingly.

Accordingly syllabus was framed for 1*' Periodic Test, which usually held at the end
of the 1% quarter of an academic year with earmarking a portion of the content of the same as
Focused Syllabus ( in draft) to provide specialized inputs to the students with gap at learning
level who has been grouped into ‘Prerana’ and ‘Sadhana’ ( Copies of the same marked with
Flag-1 ). This bears the reference to the entrustment made vide this office memo no F. No. 41/
SCERT / Survey / 2019 /447-457 Dt 16.5.2019 for the purpose of the preparation of Focused
Syllabus for students of Class Il to VIII in darft which was later uploaded in SCERT Website.

Now, taking into account of the reported lesser quantum of content in focused
syllabus of few classes and subjects there of . taking into account of the suggestions of the
constituted group of expert teachers for this purpose, the content of the focused syllabus is
hereby extended as cited in enclosed Annexure .

Accordingly , all the Head Master / Head Mistress / Teacher —in — Charges of the
concerned schools are requested to take necessary action to teach these newly included
content to the students having ledning gap i.e. within ‘Prerana’ and 'Sadhana’ group, in the
remaining days before the 1*' periodic Test which as per earlier issued Memorandum Vide No

F. F 38(1-1) / SCERT / RTE / CCE / 2016 /1596 Dt 6" July , 2019 is scheduled to be held in the
1% Week of August . 2019.

However . at the time of framing question for 1*' period Test, due attention to be paid
to avoid any sort of inconveniences to the concerned students consequent upon such inclusion
of new contents keeping conformity with that of the Model Question papers being uploaded by
SCERT.

All the District Education Officers and Inspector of Schools are requested to take
immediate necessary action under their respective jurisdiction

(UK. Chakma)’Q TS

Director , =
SCERT , Tripura
Copy to
To:
The Director , Secondary Education for information please.
The Director , Elementary Education for information please.
The Principal Officer , Education , TTAADC , Khumlwng for information please.
All the District Education Officers for information please.
All the Inspector of Schools for information please.
All The Head Master/ Head Mistress/ Teacher In Charges of the Schools for information
please.
Copy to : The PS top the Secretary to the Government of Tripura , Education (School)

Department for information please with a request to bring the st'uzhe kind

DO hwh =

notice of the Secretary .

Director,
SCERT, Tripura.



Annexure -1

[ Out of total, Remarks
Total chapter earlier .
Chapter ear'r)narked as C_ont,ercnjt bglng
Class | SI Subject (For Class Focused ";_.C ¥ Edc"n
Appropriate Syllabus for olrl:use
students) ‘Prerana’ & Sysapag
‘Sadahana’
1 | Bengali 7 2 +1(Poem) fersa g
m 2 | Mathematics 4 2 - -
3 | English 6 2 +1 (Rhymes ) | Bird Talk
4 | EVS 7 1 +1 (Chapter) | s aew ¥
1 | Bengali 5 3 - -
v 2 | Mathematics 4 2 -- -
3 | English 6 2 +1 (Rhymes ) | Wake UP |
4 | EVS 7 1 +1 (Chapter) | G *IF= =il
1 | Bengali 4 3 - -
v |2 | Mathematics 4 2 +1 (Chapter) | o wtwa
3 | English 5 2 +1 (Rhymes ) | ice Cream
4 | EVS 6 1 +1 (Chapter) | *™ == zow
1 | Bengali 4 3 -- -
2 | Mathematics 4 1 +1 (Chapter) | =ifif emefie amm
3 | English 6 2 +1 (Poem) The kite
VI | 4 | Science 4 2 +1 (Chapter) | S s grea =t
. History 6 - +1 (Chapter) | History (Chapter I)
5 g’to Cc'i?I Geography 2 1 -- - i
udies Civics 3 1 . -
1 | Bengali 4 2 +1 (Story) ECEE
2 | Mathematics 5 1 +1 (Chapter) | 7=er==1 @3 =9
Vil 3 | English 6 2 +1 (Poem) The shed
4 | Science 4 1 +1 (Chapter) | o=
Social History 6 - +1 (Chapter) | History (Chapter )
- Studies |-280draphy 2 ] - -
| Civics 2 1 - -
1 | Bengali 5 3 - -
2 | Mathematics 4 1 +1 (Chapter) | 59%% & amen
3 | English 6 2 +1 (Prose) Glimpses of the Post
VIl | 4 | Science 5 1 +1 (Chapter) | 3= @ o
Social History 6 - +1 ( Chapter) History (Chapter )
L 8 Studies |-3€0graphy 2 L - -
Civics 3 1 | -

NB : Question papers for 1% periodic Test of Hindi , Kakborok , Chakma , Manipuri
, BishnuPriya Manipur , Kuki —Mizo , Halam , Mog , Sanskrit subjects to be framed
by the School Authorities as per the actual content imparted in reslsective classes up

to 31% July ,2019 .
(U.K. Chakma P— 7. ?

Director , .
SCERT , Tripura



MODEL QUESTION - 2019
PERIODIC TEST -1
Class -l
Subject - English
Full Marks - 40 Time -90 M.
(Instruction : The students belonging to ‘Sadhana’ and ‘Prerana’ group will answer only
questions of Section-A and others will answer both Section-A and Section-B)
Section-A (10 Marks)

1.Match the opposites as mentioned in the coloumn A and Coloumn B: 1x3=3

A B
a) Good Night
b) Day come
c) Go false
bad
2. Pick the Rhyming words from the box and pair. the first one has been done for
you. 1x3=3
Sun, Trees, Day, Run, bus, wings, things, away.
Wings things.
a)
b)
c)
3. Write the meaning of the following : 1x4=4
i) Upset
ii) lovely
iii) remove
iv) fat

SECTION-B (30 Marks)
4. Anwer the following questions in one word / one sentence : 1x2=2
i) Who planted turnip seeds?
i) Where was the magic garden ?
5. Answer the following questions each in 10-15 words : 2x4=8
i) Why was the great joy in Nina’s family?
i) Why did the tiny bird love the little childern?
iii) What things does a seed need to grow ?
iv) Why is the child happy in the poem ‘Good morning’?
6. Answer the following questions each in 15-20 words : 3x2=6
i) Why do birds think people to be funny ?



i) Why was Nina unhappy ?
7. Identify the ‘haming words (noun)’ from the following sentences : 1x4=4
i) The marigold smiled happily.
ii) Nina is happy again.
iii) Wash all the vegetables well.
iv) The sainies came out and talked with them.
8. Identify the ‘describing words’ (adjective) from the following sentences. :
1x4=4
i) The old woman came to help the mon.
i) We love the little childern.
i) Please look at the tall sunflower.
iv) It was a good idea.
9. Today you saw some beautiful flowers in a garden. What hill you write in your dairy?
6
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Sample Question Paper
Class :- 111
Sub : Mathematics

Full Marks - 40 Time -90 M.
Section - A
1. Answer tht following question :- 1x6=6
(a) Write in words 198
(b) What will come after 309
(c) Choose the correct answer 600 + 40 + 2 denotes
(1) 642 (i) 246 (iii) 426.
(d) Fillin the blanks :
550, 560, 570,
(e) The length of a saree is
(1) Sem (i1) Sm (iii) Skm.
() In amatch, Dhanis score is 97. How many runs are needed for his century.
2. Answer the following question :- 2x2 =4
(a) How many sticks are there ?

OUONG] TN IV 1 ”
GLo0 > (100 ¢ 10 ) =7
ot g 1 R
GL00 > (100 ¢ 10 ) =7

(b) Radha has 48 seeds. How many seeds are needed to make it 55.
Section - B
1. Answer tht following question :- 3x6 =18
(a) Divide the following figers into symetrical haves by dotted lines.

\J

(b) Make one kite, star and flower by joining the dots.

ESS
T

(c) Express 69 as sum of two numbers in three ways.
(d) Thereare 139 apples inabox and 126 apples are in another box. How many apples are there in total?
(e) Measue the following two pencils.

I =
I =

Which one is longer ? How much longer ?
(f) Heights of three friends are given below.

Name hight

Ramit 121 cm

Priya 115cm

Sayam 132 cm




(1) Whois tallest ?

(i)) What is the difference between the hights of Priya and Sayam.

(ii)) How much longer is Ramit than are meter.

Answer tht following :-

(a) A teacher noted which fruits students like in her school and found the following.

(b)

(©)

Students |Oranges | Mangoes |Total
Girls 136 240

Boys 128 243

Total

(i) How many students in the school like oranges ?

(i)) How many students in the school like Mangos ?

(iii) All together, how many students are there in the school ?
(iv) Is the number of girls more then 350 or less them 350 ?

Colour the clowr as per direction given below.

Triangles Sqnares | Yel-
losaz

Rectangles

51152 (53|54 |55|56

57

5859 | 60

61 (62 6364|6566

67

68| 69|70

7117273 174175|76

77

78 79180

81 (8283184 85|86

87

88| 89|90

91192193194 195|196

97

98/ 99| 100

Mark the correct answer in the above table.

(i) 73-20=

(i1) 3 more then 89
(iii) 9 less then 96
(iv) The sum of 50 and 34

Blue

4x3 =12

Circles @
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Sample Questions
Period Test — 1
Class : III
Subject : LLooking Around (EVS)

Full Marks : 40

Section - A
1. Fill up the blanks :- (any 5)
(a) Animal can be seen on the branches of a tree.  (Dog / Parrot).
(b) Animal can be seen on the leaves of a plant.  (Grass hopper / Rat).
\ (¢) Water Vapour has  (Ice / water)
(d) Water is not needed  (to write/ to make tea)
(e) Activity required more water (For irrigation/ For drinking)
(f)  Our first school is  (not our family / our family)
(g) We are (connected / not connected) with our family.
2. Answer the following questions with ‘Yes’ or ‘No’. (any 5)
(a) Bird can’t fly.  (Yes / No).
(b) Fishes live in water.  (Yes / No).
(¢) Lizard can move by crawling.  (Yes / No).
(d) We all quench our thirst with water.  (Yes / No).
(e) Water is not needed in the crop field.  (Yes / No).
(f) Members of our family are similar in our looks.  (Yes / No).
(g) Every family have their own practices.  (Yes / No).
3. Choose the correct answer :- (any 5)
(a) Animal moves by hoping —
(1) Frog
(i) Snake
(iii)) Human
(iv) Ant
(b) Animal has wing —
(i) Monkey
(i) Parrot
(iii)) Dog
(iv) Cat
(¢) Animal has tail.
(i) Cock
(i) Cat
(iii) Duck
(iv) Cockroach
(d) We use water in —
(i) Washing our mouth
(i) Writting
(iii) Reading
(iv) Singing
(e) We get water from —
(1) Well
(i) Lake
(iii) River
(iv) All of the above.
(f) Not a member of my family —

(i) Mother
(i) Father
(iii) Brother
(iv) Neighbour

Time : 1‘/2 Hours

1x5=5

1x5=5

1x5=5



(e

If I want to know about past 9 am going to my —
(i) Mother

(i) Father

(iii) Grand mother

(iv) None of the above.

Answer the following question in one word. (any 5)

(a)
(b)
(©
(d)
(e)
(®
(2

Name an animal which fly in the sky.

Which animal is bigger in size — ‘Sparrow’ or ‘Squirrel’.
Name an animal which lives in tree trunk.

Who has brought life on earth in the poem ‘Water O Water!” ?
What forms ice, dew and vepour ?

Write a relationship between any two members of your family.
When I do something wrong to whom | am going in my family.

Answer the following question :-
Write the name of any 5 animals that you see in your home.

(a)
(b)
(©
(d)

Section - B
Mathch column ‘A’ with column ‘B’ (any 5)
Column A Column B
Monkey Lives in water and level
Frog Banana
Spider get water
Pond Drink water
When we feel thirsty web

(&

Answer the following questions :- (any 5)

(a)
(b)
(©)
(d)
(e)
(®
(g

Name any two animals which can move by crawling.
Name two animals that live in water.

Name two activities which we cannot do without water.
Name two container where we can store water.

Why we are the store water ?

How you are similar with the members of your family ? Write any two.

Who is the oldest person of your family ? Are you respect him ?
skskokokskskoskok
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MODEL QUESTION - 2019
PERIODIC TEST - |
Class - IV
Subject - English
Full Marks - 40 Time - 1"/, Hours

(Instruction : The students belonging to ‘Sadhana’ and ‘Prerana’ group will answer only
questions of Section-A and others will answer both Section-A and Section-B)

Section-A (10 Marks)

1.Fill in the blanks with textual words (any two) : 1x3=3
i) Every morning Neha's rings at 6 AM.
ii) Birds are in the trees.
iii) The rhyme ‘Noses’ in writen by

2. State whether the following are True or False : 1x2=2

i) Nose is not the funnies thing.
i) Neha woke herself on Sunday.
3. Pick out the correct choice Poem the alternatives given against each

(any two) : 1x2=2
i) Thebusare _ (chirping/buzzing/singing).
ii) The birds said to Nehato  (wake up/sleep / play).
iif) Every night Neha sleeps at (9PM/6PM/10PM).

4. Answer the following questions within 10-15 words each (any two) : 2x2=4
i) Which emctures wake up in the morning before the child does ?
i) Why was Neha happy when her clock fell ?
iii) Why is your nose important for you ?
SECTION - B (30 Marks)

5. Answer the following questions within one word on one sectence : 1x6=6
i) ‘Ma, who woke me up today’ - Who is the speaker ?
i) Why was the fir tree sad ?
iiil) How many arrows did Nasiruddin shoat ?
iv) Who state the gold leaves of the fir tree ?
v) ‘Its the funnies thing,
the way it grows’ -- What is ‘it’ her ?
vi) Write the word meaning of ‘breeze’.
6. Answer the following questions within 10-15 words eac : 2x2=4
i) Write the names of the places where the peot wants us to run?
i) What did Nasruddin boast about ?



7. Answer the following questions within 20-25 words eac : 3x2=6
i) Why did sheety run towards the fir tree ?
i) Why does the poet feel that the nose is a funny thing ?

8. Answer the following questions as per direction give in brackets against each

1x8=8
i) It is time to get up for school. | want to sleep for some more time.
(Join into one sentence by using but/and).
ii) The children happy. (Choose the correct one to fill in the blanks - was/were).

iii) Ram a good football player.
(Choose the correct one to fill in the blanks- was /were).

iv) There boys are running in the playground.
(Use ‘how many’ to frame a wh-question).

v) Rita loved her dog sheroo. (Identify the verb).

vi) It is a lovely day. (Identify the adjective).

vii) One saturday afternoon Amarijit and his little sister Rani went for a picnic.
(Use capital letter where necessary).

viii) Then they went to india gate. (Punctuate the expresstion)

9. Write a paragraph in about 30-40 words on Your School. 6
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Sample Question
1*'Periodic Test
Class :- 1V
Subject : Mathmatics

Full Marks : 40 Time : 11/2 Hours

Section - A

1. Answer the following question :- 1x6 =6

(a)

(b)

(©)
(d)
(e)
®

Total number of faces a brick hare—

(1) 4, (i1) 5, (iii) 6, (iv) 8.

5 Minutes past 7 is as written as—

(1) 7:5, (ii) 7:05, (iii) 7:50, (iv) None of these.

Say true or flase : A brick have squave faces.

Say true or flase : In a 12 hour clock each time comes twice in a day.
100 thousand = — Lakh (Fill in the blank)

What month and year is written as 04/19.

2. Answer the following question :- 2x2 =4

(a)
(b)

Anik enjoyed 15 day’s Puja holiday’s and Anirban enjoyed 2 weeks. Who enjoyed more ?
Cost of 100 bricks is Rs. 1000. What is the cost of 50 bricks ?
Section - B

3. Answer the following question :- 3x6=18

(a)
(b)

Make three numbers using 2, 5 and ?

(i) Ina 24 hour clock 3:30 in the afternoon written as—
(1) 3:30, (2) 15:30, (3) 16:30, (4) None of these.
(i1) The minute hand started from ‘6’ and come back to ‘6’ again. It takes  minutes.
(Fill in the blank)

(iil) What is the position of the minute hand when it is 8:45.

(c) A stadium has a track 400 m long what will be the distance in km covered after 10 round ?
(d) Costof 5 litres diesel is Rs. 350. Find the cost of 1 litre of diesel.
(e) Distance from Agartala to Udaipur is 53 km. If the distance from Agartala to Bishalghar is 20
km, then what is the distance from Bishalghar to Udaipur ?
(f) Rahul gave 4 toffes each to 5 of his friends and 3 toffes are left with Rahul. How many toffes
did Rahul have ?
4. Answer the following question :- 4x3 =12
500 m
(a) 500 m 500 m
500 m

In fig. it a play ground—
(i) How many rounds to be completed to cover 2 km distance ?
(i) What distance covers in km and m after 6 rounds ?



(b) No. of Students of a school is given below :

Class No. of Students
I 37
II 41
I 43
v 52
v 47

(1) How many students in class I and class II ?
(i1) How many students in class III, class IV and class V ?
(iii) Find the total numbers of the students ?

(¢) Inalongjump competition, shyamal jumped 3 m 40 cm. and got 1st position. Samar got 2nd
position jumping 20 cm less than shym. Mrinal got 3rd position jumping 5 cm less than samar. How
long distance cover by samar and Mrinal ?
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Sample Question
1*'Periodic Test
Class :- 1V
Subject : Looking Around

Full Marks : 40 Time : 11/2 Hours

1.

3.

4.

Section - A

Fill in the blanks (any five) :- 1x5=5

(a)
(b)
(c)
(d)
(e)
®

In some places the riveris _ and deep. (narrow / wide)
Thereisa _ an open box made of wood. (car / trolley)
A helps the trolley (pulley / inclined plane).

There are two tiny  on a lizard’s head. (holes / horns)

The holes of bird’s head are covered with _ (feathers / thorns).
Anitalivesin __ village. (Bochaha /Ranchi)

Choose the correct words :- (any five) 1x5=5

(a)

(b)

(©)

(d)

(e)

®

‘Vallam’ is a small wooden —

(1) Rickshaw (ii) car (iii) boat (iv) bridge.

The children of Rajasthan go to school by —

(1) the camel cart (ii) the horse cart (iii) the ass cart (iv) the bullock cart.

The different patterns on the animals are due to —

(1) the hair on their skin (ii) the feathers on their skin (iii) due to thorns on their skin (iv) due
to horns on their skin.

The children may slip and fall when the snow is —

(1) frozen (ii) soft (iii) very soft (iv) none of above.

What s ‘Jugad’ ?

(1) special type of vehicle (ii) special type of boat (iii) special type of cycle (iv) special type of
taxi car.

Which trees were more in Anita’s locality ?

(1) Banana (i1) Litchi (iii) Mango (iv) pineapple.

Answer by yes or no. (any five) 1x5=5

(a)
(b)
(c)
(d)
(e)
®

Forty or fifty children sit in the trolley. — (Y/N)

Most of the villages in plains we see the horse cart. — (Y/N)
There is sand all around at Rajasthan. — (Y/N)

A crocodile has no ears. — (Y/N)

An elephant also has hair on its skin. — (Y/N)

Anita completed bee-keeping course. — (Y/N)

Answer in one or two words :- (any five) 1x5=5

(a)
(b)
(c)
(d)
(e)
®

When ‘Jugad’ (the vehicle) runs how does it sound ?
In which place the roads are very rocky and uneven ?
In thick forest what can’t pass through ?

If the snow is soft what can happen to the children ?
Name one animal that lay eggs ?

How did Anita spend her time when she was young ?



5.

Answer the following question :- 1x5=5
Name three animals what you can see their ears and name two animals that you can’t see the ears.
or

Name three animals which has hair on skin and two animals (birds) which has feathers on skin.
Section - B

Answer the following questions :- (any five) 2x5=10

(a) How do the children can reach from one side to the other side of a river ?

(b) How a bridge can be constructed ?

(c) How children go to school through miles of snow ?

(d) How do the birds can hear ?

(e) Name two animals that give birth to their babies ?

(f) When the honey bees lay their eggs ?

Match the followings :- 1x5=5
A B

(a) The tiger large ears

(b) The elephant national animal.

(c) 4 or 5 bamboo poles when tied together at Rajasthan

(d) It gets very hot in the day like motorcycle

(e) The front part of Jugad vehicle Bamboo - bridge
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MODEL QUESTION - 2019
PERIODIC TEST - |
Class -V
Subject - English

Full Marks - 40

Time -90 M.

(Instruction : The students belonging to ‘Sadhana’ and ‘Prerana’ group will answer only

questions of Section-A and others will answer both Section-A and Section-B)

Section-A (10 Marks)

. Fill in the blanks with appropriate words :
i) Avial became famous all over
ii) I's fun to shootthe _ through the hoop.
. State whether the following are True or False (any two) :
i) lce cream is popular in summer season.
ii) The king had ordered a lunch in the palace.
iii) Sometimes teamwork can be a big plus.

. Pick out the correct choice from the alternative given against each :

i) Avial is a traditional frast of . (Orissa / Kerala ? Mumbai)
ii) To play cricket we need . (goal keeper / racket / bowler)
. Answer the following questions with 10-15 words each (any two) :
i) Why did the Maharaja go into the kitchen in the afternoon ?
i) What are the two things that the ice creal men are selling?
iii) Why teamwork is necessary ?
. Answer the following questions within one word or one sentence :
i) Where did the geese live ?
i) What is ‘avail’ ?
iii) Who ordered a grand dinner in his palace ?
iv) When did the geese return home ?
v) What is a baton ?
vi) What is the funniest thing about shadow ?
. Answer the following questions within 10-15 words each :
i) Why did the geese pretend to be dead ?
i) When can’t a relay race go on?
. Answer the following questions with 20-25 words each :
i) Why did the old bird advise the other birds to destroy the creeper ?
i) What did the boy find or a day when he rose before sunrise ?
. Write the contractions for the following phrases :
i) They are
i) What have

1x2=2

1x2=2

1x2=2

2x2=4

1x6=6

2x2=4

3x2=6

1x2=2



9. Fill in the blanks with appropriate preposition given in the bracket against each :
1x2=2

i) The tree was the home __ a flock of wild geese. (to, with, of)
i) He noticed a small creeper ____ the foot of the tree. (in, at, of)

10. Frame ‘wh’ questions from the following sentences : 1x2=2
i) The battle was los because the was no rider.
ii) The colour at the art is black.

11. Fill in the blanks using one of the words given in brackets : 1x2=2
i) | saw many houses __ were quite spacious. (which/ whose/who)
i) Where is the child __ parents have come to school ? (who / whose / which)

12. Write a story with the following points within 40-50 words : 6
Ant saw a fountain - he came near it- he fell into water - cried for help - a clove saw it - she
pulled a leaf from tree - dropped it in water - the and was saved.
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MODEL QUESTION-2019
PERIODIC TEST - |
Class -V
Subject - Mathematics

Full Marks - 40 Time - 1"/,Hours

1.

Section - A (10 Marks)

(a) In the given figure how may squares are there ?

or
For making a triangle 3 match sticks are required. How many match sticks are needed

for making 5 such triangles ?

2.

b) How many sides and angles in at riangle ?

c) By which English letter we denote right angle ?

d) Which instrument present in your geometry box to measure an angle ?
e) How many right angles present in a square ?

f) At 3’0 clock, what is the angle between hour hand and minute hand ?

2x2=4
(a) Draw a Cricle and show 180°.
(b) How many digrees is the angle which is
1
(i) B of right angle.
(i) 2 times of a right angle ?
Section-B (30 Marks)
3x6=18

a) (i) How many zero’s are there in the number one lakh ?
(i) 25 paise part of one rupee.
(iii) How many 10 paise will make one rupee ?
b) A motor boat travel about 20 km in one hour. How far would the motor boats go in
three and a half hours ?
(c) Rina sells prawns for Rs. 350 a kg. If she sold 25 kg prawns then how much money did

she get for that ?

1
d) Raheem has to travel 1 1 km to reach school. What distance does he travel to go to

school and come back home ?

e) Latha bought a pencil and a pen for seven and a half rupees. She gave Rs. 10. the
shopkeeper gave back the money in 50 paise coins. how many 50 paise coins she

got?

f) Gracy took a loan of Rs. 4000 to buy a net. She paid back Rs. 345 every month for one
year. How much money did she pay back to the Bank ?



4. 4x3=12

a) Jhansi and her sister took a loan or Rs. 21,000 to buy a log boat. They paid back a total
of Rs. 23,520 in one year. How much did they pay back every month?

b) Basheer has Rs. 1000. He spends one-fourth of the money on squid and another three-
fourth on prawns. How much he spent on squid a prawns.

c) Manju had a twelve chocolate She gave one-fourth of it to Raji, one-third to Sugatha
and one-sixth to sheela. She are remaining part. How many pieces of chocolate did
each get?
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MODEL QUESTION - 2019
PERIODIC TEST -1

Class -V
Subject - Looking Around
Full Marks - 40 Time - 1"/, Hours
Section - A
1.Fill up the blanks (any five) : 1x5=5
a) Some male insects can recognise their females by their . (Smell/touch)
b) Birds have to turn their _ to see around. (heads/ears).
c) ____ can see four times as far as we can. (Eagles /Sparrow).
d) Green coriander (Dhania) could be kept fresh by it. (boiling /drying)
e) Before filling with pickles glass jarsare __ well in the sun. (dried / wet)
f) It is the right of every child to get proper __ . (food/clothing).
2. Choose the correct option of the following (any five) : 1x5=5

a) Sloths live for about how many years ?
(i) 5 years (ii) 10 years (iii) 40 years (iv) 50 years.
b) Which part of a tiger is very sensitive ?
(i) eyes (ii) whiskers (iii) ears (iv) nose.
c) Why elephants are killed ?
(i) For their tusks (ii) for their ears (iii) for their skin (iv) for its horn.
d) What was made by two brothers by using poles ?
(i) a high platform (ii) a low platform (iii) a high and a low platform
(iv) None of above.
e) What did they take out in a large pot ?
(i) the mango pulp (ii) the jackfruit pulp
(iii) the pineapple pulp (iv) the watermelon pulp.
f) What is the taste of lemon juice?
(i) bitter (ii) salty (iii) spicy (iv) sour.
3. Answer in one word. (any five) : 1x5=5

a) Which fruit is used to make mamidi tandra ? (aam papad).

b) Name one sanctuary (protected areas for animals).

c) How we can keep fresh the food items like onion, garlic ?

d) Which animal can see six times betters than us at night?

e) How does a langur warns others of dangers like a tiger or leopard?

f) which solution is necessary when then there is vomiting and loose motions of
people.



4. Answer the following questions : 1x5=5
Name three such objects of which smell you like most and name two such objects
which smell you do not like.

Or
Name three such objects which tastes sweet and name two such objects which
tastes sour.

5. Write Yes or No (any five) : 1x5=5
a) Those animals that are awake at night can see things only in black and while.
(Y/N)
b) The snake hears by external ears. (Y/N)

c) Different kinds of food items spoil due to same reasons. (Y/N)
d) Cooked rice can be kept fresh by wrap in a damp cloth.  (Y/N)
e) Elephant has big ears.  (Y/N)

f) We get taste of food by our tongue. (Y/N)

Section-B

6. Answer the following words (any five) : 2x5=10
a) How does the ant recognise a friend ?
b) Sometimes dogs are seen to sniffing here and there. What do you think it is trying
to smell?
c) Why was sugar and jaggery mixed into the mango pulp and dried in sun?
d) What did preeti tell Nitu not to eat ? Why she had told not to eat ?
e) Who are called hunters and poachers ?
f) Why can you not taste food properly when you have a cold ?

7. Match the following : 1x5=5
A B
a) Jelly on the platform
b) They tied the mat Mango
c) Snakes are killed for Musk deer are killed
d) Only for scent electric signal

e) Fish gives alarm call by for their skin

*kkkkkkkkk



Periodic Test-l
Class-VI
Subject-English
Full Marks-40 Time: 90 minutes

(Instruction: The students belonging to “Sadhana” and “Prerana” group will answer only
questions of Section —A and others will answer both Section-A and Section —B)

Section-A (20 marks)

1. Fill up the blanks with appropriate textual words(Any two): 1x2=2
i)  The Emperor of Japan rewarded Taro with pieces of gold.
ii)  The kite seems to rest as falls.
i) Ahomeis a family.

2. State whether the following is true or false: 1x2=2

i) A home is a loving & family & doing for others.
ii)  Taro lived with his brother on a lonely hillside.

3. Pick out the correct choice from the alternatives given against each: 1x2=2
i)  One day, Taro’s father wished to have a cup of (tea/sake/milk).
i) A house is made of brick & (stone/plastic/bamboo).

4. Answer the following questions within 15-20 words(Any three): 2x3=6

i)  How is a home different from house?

i)  Why did the Emperor reward Taro?

iii) How is kite compared to a ship?

iv)  What is the difference between a house and a home ?

5. Answer the questions as per instructions given against each (Answer any eight) : 1 x 8 = 8

i)  Taro quickly the pitcher he had with him. ( use past form of “ fill")
i)  What a home. (use appropriate verb from- is/are/am)
iii) Taro saw a beautiful little waterfall. (Find out the Object )
iv)  How bright on blue!
Is a kite when it's new! (Fill up the blanks with appropriate article)
v) Next morning Taro jumped out bed earlier than usual. ( Fill up the

blanks with appropriate preposition)
vi) Though Taro worked very hard, he earned very little money. ( Find out the pronoun)
vii) The kite soars like a ship. ( Find out the verb)
viii) The kite is very bright. (Pick out the subject).

ix) What is house? (Fill up the blanks with appropriate article)
x)  Each man heard the story of the water fall. (Find out the subject)
xi) Loving members of a family together. (Pick out the verb)

Section-B (20 marks)
6. Read the following text and answer the following questions: 1x8=8

In 1931, Albert Einstein wrote the following short letter of admiration to another of the
world’s greatest minds, Mohandas Gandhi. Despite their intentions, the pair never met in
person.



Respected Mr. Gandhi,

| use the presence of your friend in our home to send you these lines. You have shown
although your words, that if it is possible to succeed without violence even with those who
have not discarded the method of violence. We may hope that your example will spread
beyond the borders of the country, and will help to establish an international authority,
respected by all, that will take decisions & replace war conflicts.

With sincere admiration,

Yours
(Signed, ‘A, Einstein’)
Hope that | will be able to meet you face to face someday.

Gandhi’s Response
London,
Dear Friend,

| was delighted to have your beautiful letter sent through Sundaram. It is great
consolation to me that the work | am doing finds favour in your sight. | do indeed wish that
we could meet face to face and that too in India at my Ashram.

Yours Sincerely

( Signed, * M.K. Gandhi)

i)  Write the opposite word of ‘fail’.

i)  Where did Gandhi wish to meet Einstein?

iii) What is the name of Gandhi’s friend who met Einstein?

iv)  When did Gandhi write the letter to Einstein?

v) Did Gandhi & Einstein ever meet?

vi) Find a word from the passage which is opposite in meaning to ‘enemy’.
vii) “l use the presence of your friend”-who is “I” here?

viii) Find a word from the passage which is similar in meaning to ‘happy’.

6. Write a short story with the help of the following clues. Add a suitable title also. 5

A mouse was chased by cat entered the house of a magician mouse
changed into a girl by the magician wants to marry the strongest person___ sun or
cloud Stronger Mountain stronger than clouds mouse stronger than
mountain girl asks to marry mouse becomes mouse again.

7. Make nouns from the words given below: 1x2=2

a) Great b) cruel
8. Answer the following questions within 40-60 words. 5
a) Why did the other governor grow jealous of the shepherd?
Or
b) How did the rishi explain the different ways in which the bird behaved?
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Sample Questions
Period Test — 1
Class : VI
Subject : Mathematics

Full Marks : 40 Time : 1'/, Hours

(a)

(b)
(©
(d)

(©

(®
(&

(h)

(i)
)

(a)
(b)

(©

(d)
(©

Section - A (Marks-20)

1x10=10
What is the measure of (i) a right angle ? (ii) a straight angle ?
or
Which is the smallest two digit number ?
Write the numerals : Seventy five lakh sixty thousand eight.

Fill in the blanks : 1 lakh =  hundreds.

How many diagonals a quadrilateral has ?
or

IKm=__ cm?

From the following which is largest ?

536, 728, 389, 948
Write in Roman numerals : 31
Draw a circle with radius 3 cm.

or
Round the number to the nearest tens : 38
B
From the given figure, find two segments and write their names.
A C
or

Write in Roman numeral : 50
Insert commas suitably and wirhte the names according to Indian System of Numeration :
875957
Draw a rough diagram of a open curve.
or

1 Million = Lakh ?

2x5=10
Use the given digits without repetition and make the greatest and smallest 4-digit number :
3, 6, 8 4
Find : 796 — 314

D C

From the given figure, write the name of the angles.

A B

or
Give a rough estimate by rounding off to nearest hundreds : 439 + 334 + 4,317
To stitch a shirt, 2m 15m cloth is needed. Out of 40 m cloth, how many shirts can be stitched
and how much cloth will remain ?
Give reason : A square can be thought of as a special rectangle.
or

Write in international system : 79502394.



(a)

(b)
(©
(d)

(a)
(b)

Section - B (Marks-20)
3x4=12
(1)  Write the next natural number of 10999.
(i) Which is the smallest whole number ?
(iii) What is the greatest prime number between 1 and 100 ?
Find the product using suitable properites : 728 x 101
Find hte least number which when divided by 6, 15 and 18 leave remainder 5 in each case.
Multiply using number line : 2 X 6
4x2=8
Using divisibility test, determine 639210 is divisible by 6 or not.
A taxidriver filled his car petrol tank with 40 liters of petrol on Monday. The next day, he filled
the tank with 50 litres of petrol. If the petrol costs I' 44 per litre, how much did he spend in all

on petrol ?
skekeskeskeoskeoskokskok
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Simple Question
Periodic Exam- 2019

Class- VI
Subject : Science
Time : 1/, Hours Full Mark : 40
Section - A
1. Fill up the gaps (Any 5) : 1x5 =5
i) We get Sugar from (Sugarcane / Banana)
i) Mineral helps in the formation of bone (Iron / Calcium)
i) Rice is a (Carbohydrate / Vitamin)
iv) Beriberi occurs due to dificiency of (Vitamin-B / Vitamin-A)
v) The Vitamin gets easily destroyed by heating is (Vitamin-D / Vitamin-C)
vi) One metre is centimetre (100 cm / 1000 cm)
vii) The motiion of a Seeing is (Rectilinear motion / Periodic motion)
2. Answer the question with ‘Yes’ or ‘No’ (Any 5) : 1x5 =5

i) Milk is an animal food- (Yes / No)

ii) The food habit of different parts of the country is different. (Yes / No)

iii) We get vitamin C from sunlight. (Yes / No)

iv) Due to dificiency of nutrient we may suffer from different diseases. (Yes / No)

v) The fibres in the foods are not Roughages. (Yes / No)

vi) Motion that repeats it self ofter some preiod of time is called periodic motion. (Yes / No)

3. Choose the correct option (Any 5) : 1x5 =5
(a) An omnivorans animal is -
i) Tiger i) Cow iii) Goat iv) Human being
(b) Night blindness occurs due to dificiency of
i) Vitamin B i) Vitamin A i) Vitamin C iv) Vitamin D

(c) Which one is not a source of Fat ?
(i) oil (ii) ghee (iii) butter (iv) lemon
(d) We get oil from seeds of-

i) Mustard i) Cotton iii) Beans iv) Cucumber
(e) The component which helps in absation of nutrient from food-
i) Fat i) Water iii) Carbohydrate iv) Protein
(f) The motion of the hands of clock
i) Rectilinear Motion ii) Circular Motion
iii) Periodic Motion iv) None of the above
4. Write in one or two words (Any 5) : 1x5 =5

(a) Name one food material from plant source?

(b) Name one herbivore.

(c) The deficiency of which vitamin leads to the scurvy disease.
(d) Name one carnivore animal.



(e) Name one surce of lodine of food materials.
(f) What is the unit of length in S.I system.

5. Anwer the following quesiton :- 5
Indentify the arrow mark on the given figure of the plant.

9,
RN

(@) ]

Section - B

6. Answer the following questions (Any 5) 2x5 =10
a) What do you mean by Harbivorus animal ?
b) What is Balanced diet ?
c) Name two main components of our food.
d) Name two deficiency discases.
e) Name two sources of Vitamin D.
f) What is rectilinear motion?

7. Match the followings (Any 5) : 1x5 =5
Column-A Column-B
i) Milk, Curd, Paneer, Ghee vegetable
i) Spinach, radish, Couliflower food from animals
iii) lodine body building food
iv) Protein weak bones, tooth decay
v) Calcium Goitre

*hkkkkkkkhkhhkx
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Periodic Exam- 2019

Class- VI
Subject : Social Science
Time : 1 Hour 30 Min. Full Mark : 40

General Instructions :

1. The question paper has 30 questions in all.

2. All question are compulsory
3. Marks are indicated against each question.
4. Question No. 1 to 20 are very short question type. each questions carrig one mark.

5. Question from serial number 20 to 30 are 2 marks questions. Answer of these questions
should not exced 60 words each.

Section - A
1. Earth’s twin planets is
i) Jupitar i) Venus i) Mars
2. The pole stars indicates (South Direction / North Direction / East Direction)
Or

The value of the Prime Manidian is (90°/ 0° / 60°)

3. Asterroied belt is seen within the two orbits of

i) Saturn and Jupitar i) March and Jupitar
i) Earrth and Mars iv) Non-of the above.
or

North pole is situated

i) Northern Hemisphere i) Southern Hemisphere
iii) Eastern Hemisphere iv) Western Hemisphere
4. The natural satellite of the earth is

(Moon / Sun / Mercury)
5. Moon s

K.M away from the earth.
(31 lacs 84 thousand / 4 lacs 84 thousand / 15 crore / 9 crore)
or

10 0

The standard Maridian of India is (825 e, 87% e)

6. How much time is required by the sunlight to reach the earth)?
7. Whcih planet is called the ‘Blue Planet’?
or
India is situated in which hemisphere of the earth.
8. How long does the moon take to rotate around the earth.
or
What is the latitudinal value of the tropic of cancer.
9. What is the name of the mountain range known is central India?
or



10.

1.

12.
13.

14.

15.

16.

17.

18.

Who were known as hunter-gather people?

What was the southern part ganga known in anciant period?
or

What was the three periods of stone-age?

Why did the early man take shelter in the cave?
or

What do the priest travel around the town and villages?

The persent name of Magadha is (Uttar pradesh / Bihar / Tripura).
The greeks entered India through

i) North-East Border i) South-West Border

iii) North-East iv) None of the above.

First rice production started in India
i) In the north of Vindhya Range ii) In the south of Vindhya Rang

ii) In the west of Vindhya Rang iv) None of the above

The word manu script is derived from —

i) Latin word manue i) Greek word Manu

iii) English word script iv) None of the above

Central level means —

i) city i) state iii) whole country iv) None of thrse.

India is a —

i) Democratic country i) Monarcy state

iii) Dictatorship iv) None of these

In India citizens whose age is or above they can participate in Lok Shaba,

State Assembly or Panchayet Election. (17 years / 21 years / 18 years)

19.

20.

21.
22.

23.

24.

Britains women got their right to vote in

(1921 /1928 / 1930).

In which year did the women of America get their right?
or

Who wrote the book “Discovery of India”?

Section - B

What is solar system?
Give two differences of planet and star.

or
What is a globe.
What is telescope?

or

Why do Torrid zone absorbe maximum heat?
Why do people travel at present.



25.

26.

27.
28.

29.

30.

or
Why do the hunter-gatheres travel from place to place?
What do we know from manuseripts?
or
Which time is called stone age and why?
What is archaeological source? Give an example.
or
How had fire changed the life of early hunman?
What do you understand by the word government?
Mention two work done by government at central level.
or
Why ladakh is called little Tibte?
Write two essential features of domoesatic government.
or
What does the constitution say regarding equality?
Write two demerity monanchy state.
or
What do you mean by the word prejudice?



Full Marks-40

Periodic Test-1
Class-VII
Subject-English

(Instruction: The students belonging to Sadhana and Prerana group will answer only

questions of Section —A and others will answer both Section-A and Section —B)

Section-A (20 marks)

1.

6. Read the passage Carefully and answer the following questions :

Fill up the blanks with appropriate words: 1x2=2
i) Gopal bought a____ hilsa fish.

i) The Squirrel liked to and play.

State whether the following is true or false(Any two): 1x2=2

i) There’s a shed at the bottom of our school.
i) The squirrel loves to play with the poet & her friends.
iii)  Nobody asked Gopal about the price of the hilsa fish.

Pick out the correct choice from the alternatives given against each( Any two): 1x2=2

i) The squirrel wore a mark for tail. (Question/answer/examination).

i) The poet’s brother says that there’s _ in the shed. (Tiger/ghost/mad man).

iii) Gopal's (brother/wife/sister) asked him why his face half shaven.

Answer the following questions within 15-20 words( Any three): 2x3=6

i) What three things did Gopal do before he went to buy his hilsa fish?
ii) Write about the activities of the squirrel.

iii)  What is the speaker’s brother say about the shed?

iv)  Why did the king want no more talk about the hilsa-fish?

Answer the questions as per instructions given against each( Any eight): 1x8=8

i) The squirrel___ up straight to eat a nut. ( use past form of “sit”)

i) Gopal was a clever man. (Find out the adjective)

i)  ButI'll take peek one day. ( Fill up the blanks appropriate article)
iv)  Why is your face half-shaven ( Put punctuation mark)

V) I'll open that door. ( Find out the object)

vi) My horns are very beautiful. ( Find out the adverb)

vii)  The king felt guilty. ( Find out subject)

viii) There is someone staring me. ( Fill up the blanks with appropriate preposition)
iX) what’s the matter you? ( Fill up the blanks with appropriate preposition)
X) The squirrel looks like baby rabbit. (Fill up the blanks appropriate article)

xi)  Throw him at once! (Pick out the object)
Section-B (20 marks)

The Cactus is a plant which grows in very hot, dry places. They do not have leaves. Instead they

Time -90minutes

1X8=8



have spiny needles which stick out of their stems. There are many shapes of the cactus, some are
small and round, others are tall like column or pillars. Some are shaped like tubes or bells. Some are
shaped like wheels, some grows as trees or shrubs, and others grow on ground cover. Cactus
flowers are big and some of them bloom at night. Their flowers come out at night because they are
pollinated by insects or small animals that come out at night. Insects and small animals carry pollen
from one cactus to another. Most cacti live in North and South America; others live in Africa,
Madagascar and Sri Lanka. Cacti do not have very large leaves because large leaves would allow
water to evaporate, it changes form from liquid to gas. When it becomes gas, it is light enough to
move through the air, but it could be lead for the cactus because the cactus needs the water to live.
Some cacti have waxy coatings on their stems, so that water will run down the stem to the roots.
Cacti can absorb water from fog in the air, since it does not rain very much in the desert. Most cacti
have long roots which can spread out close to the surface so they can absorb a lot of water on the
occasion when it rains.
a. What do cacti have instead of leaves?
b. How are Cacti shaped?
i) like pillars
i) like tubes
iii) like wheels
iv) All the above
c. Where do most Cacti grow?
i) North and South America
ii) Southern Europe
i) Antarctica
iv) Asia
Why do the Cactus flowers come out at night?
From where does the Cactus plant get water?
Why does Cactus have waxy coating on their stems?
What does the Cactus plant have instead of big leaves?

@ ™o o

When does the cactus flower come out?
7 Write a letter to the Headmaster/Headmistress of your school for early leave from the school. 5

8 Re-write each of the following pairs of a single sentence using “if” at the beginning of the
sentence. 1x2=2
i) Don’t spit on the road. You will be fined.
i) Work hard. You will pass the examination in the first division.

9 Answer the following questions within 40-60 words. 5
a) Why is the ‘master call’ most important signal for an elephant to learn?
Or
b) Describe a desert in your own words.
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Sample Questions
Period Test — 1
Class : VII
Subject : Mathematics
Full Marks : 40 Time

Section - A
1.  Answer the following questions :-

(a) Additive inverse of 156 is —

(i) — 156 (i) 156  (iii)) O (iv) None of these.
(b) Absolute value of —16 is

(i) 16 (ii)—16 (i) 0  (iv) None of these.
) (+4)+(+6)=?

(i) +10 (i) —10 (i) 2 (iv) -2
(d 17%x(5=7?

(1) 85 (ii)—85 (i) 22 (iv) 12
(e) Fill in the blank : (7)x =10
(f)  Write the opposite — ‘Earning I' 7°
(g) Supplementary angle of 100° is

(i) 50° (i1) 40° (i) 80°  (iv) 90°

or

Find : (-72) + (-6)
(h) Say true or false : (-5) is greater than (-3).
(1)  Fill in the blank : (- 58) + (- 66) = (......y+ (— 58)

S
P o
(), \ Find the value of  POS .
R116°\ O
or

Multiplicative inverse of (—8) is —

1 1
(i) — 8 (ii) 3 (iii) 3 (iv) None of these.

2. Answer the following questions :-
(a) Arrange in ascending order : 0, -3, 5, —12
(b) Add:(-4)+9
(¢) Sum of two integers is (—18). If one is 10, find the other.

(d) 115 / Find the value of y.
P, ’ o

7

or
Simplify : (-=5) X 8 + (-5) x 8

: 1'/, Hours

1x10=10

2x5=10



(©)
If fig. if PQ || ST, then find the value of x and y.
or
If a =—8and b = — 5, then show that (a—b) # (b—a)
Section - B
Answer the following questions :- 3x4=12

(a) Solve: 15x+9=11x-35
(b) A scooter covers 55.3 Km is one litre of petrol. How much will it covers in 7 liters of petrol ?

(c) (i) Give one example of shape with no line of symmetry.
(i) A square has __ line of symmetry. (Fill in the blank)
(iii) Say true or false :-
‘A circle has both line of symmetry and rotational symmetry’.

N

t
55°) wl

(d) \\XO 1600 ,, Infig. [|[m and ¢ and s are two transversal, find the value of x and y.
Answer the following questions :- 4x2=8

5
(a) A man earned I' 24000 in a month. He spent 3 th of money and left of the money deposited in

a bank. How much money does he deposit per month.
(b) Solve: 14(x—3)+3(x+4)=4

skokskokskokskksk
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Sample Question
Periodic Exam- 2019

Class- Vi
Subject : Science
Time : 1/, Hours Full Mark : 40
Section - A
1. Fill up in the blanks (Any 5) : 1x5 =5
i) The components of food are called . (nutrients / parts)
i) The plants are called . (autotrophs / heterotrophs)

i) All animals including human being and most other organism are
(autotrophs / heterotrophs)

iv) are the food factories of plants (stems / leaves)
v) The plants take from air by stomata. (carbon-di-oxide / oxygen)
vi) The temperature of boiling water is measured by thermometer.
(clinical / laboratory)
vii) Temperature is measured by unit. (litre / °C (degree celciums)
2. Answer the question with ‘Yes’ or ‘No’ (Any 5) : 1x5 =5

i) Oxygen is released by photosynthesis. (Yes / No)

i) Sunlight is not essential for photosynthesis. (Yes / No)

iii) There is green pigment named chlorophil remains in leaves. (Yes / No)
iv) Starch is one kind of carbohydrate. (Yes / No)

v) The plants are heterotrophs (Yes / No)

vi) Thermometer is used to measure temperature. (Yes / NoO)

3. Multiple Choose the correct answer (Any 5) : 1x5 =5
(a) Cuscuta is an example of
i) autotraph i) parasite iii) saprotroph iv) host
(b) By which part the plants take carbon di oxide from air?
i) root ii) stem i) leave iv) flower
(c) Photosynthesis producs
i) chlorine ii) sulphur di oxide iii) oxygen iv) nitrogen
(d) The example of symbiotic plant-
i) lichen ii) rose plant i) pitcher plant iv) mango plant
(e) Which gas is abundant in air?
i) nitrogen ii) hydrogen
iii) carbon di oxide iv) mitnare

(f) An iron ball at 40° is dropped in a mug containing water at 40°. the heat will-
i) flow from iron ball to wa ter
ii) not flow from iron ball to water or from water to iron

iii) flow from water to iron ball.



iv) increase the temperature of both.

4. Answer in one/ two word any five: 1x5 =5
(a) What do the all living organisms require to survive?

(b) Name the organisms who complet their nutritions taking food from plants. or others?
(c) How the trees prepare their food?

(d) Which pigment is present in leaves?

(e) Name the organisms which take nutrients from dead and decaying matter?

(f) What is the normal terperature of human body?

5. Answer the following question :- 5

Give the diagram showing photosynthesis or show by a diagram what the plants need in
photosyntheis.

Section -B

6. Answer the following questions (Any 5) 2x5 =10
a) What are nutrients?
b) How the plants prepare their food by themselves?
c) What is nutrition?
d) What are guard cells?
e) What are the essential components of photosynthesis?
f) Give one example of conductor and one example of insulator of heat.
g) What is the use of maximum-minimum thermometer?

7. Match the followings (Any 5) : 1x5 =5
Coloum-A Coloum-B
i)  Chlorophil Rhizobium
i) Nitrogen Heterotrophs
iii) Cuscuta pitcher plant
iv) Animals leaf
V) insects eater plant parasite

khkkkkkhkhkhkkk
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Sample Question
I Periodic Examination
Class :- VII
Subject : Social Science

Full Marks : 40 Time : 11/2 Hours

General Instructions

1.
2

3.
4.
5

or
or

or

or

or

The question paper has 30 question in all.
All questions are compulsary.
Marks are indicated against each question.
Question No. 1 to 20 are very short question type, each question caries one mark.
Question from serial number 21 to 30 are 2 marks question. Answer of these questions should not
exceed 60 words each.
Group - A
Which is not a natural Eco-system.
(a) desert, (b) acquarium, (c) forest, (d) None of these.
Which is a human made Environment ?
(a) Mountain, (b) Sea, (c) Road, (d) None of these.

The inner most layer of the earth is—

(a) Crust, (b) Core, (c) Mantle, (d) None of these.

Which one is dangerous for Environment—

(a) Increase the number of plants, (b) Growth of population.
(c) Increase of crop production, (d) None of these.

Gold, petrolium and iron are example of—

(a) Rock, (b) Minerals, (c) Fossil, (d) None of these.

Air covering around the earth is called

(a) Atmosphere, (b) Hydrosphere, (c) Biosphere.

Inter Relationship between living animels and different matters of its surrounding is
(biosphere, environment, forest)

The thinest more layer of the earth is

(crust, mantle, core)

Give an example of human made encironment ?

What is the name of the whole water portion of the earth ?

What is the name of the process of transformation from one rock to another rock ?
What is the source of all minerals of the earth.

Name a fossil fuel.
‘The Indian parrots’ was known as—
(a) Amir Khusrau, (b) Al-Biruni, (c) Minhaj-i-Siraj, (d) Talemi.



or

10.

or

11.

12.

or

13.

or

14.
15.

or

16.

17.

18.

19.

or

20.

or

21.
22.

or

23.

or

The first historical book of India is—

(a) Rajtranggini, (b) Mahavashya, (c¢) Mudrarakhas, (d) Harshacharit.
Al-Idrisi was a—

(a) W riter, (b) Geographer, (c) Scientist, (d) Philospher.

Sultan Mamud invaded India—

(a) Eleven times, (b) Thirteen times, (c) Fifteen times, (d) Seventeen times.
The Sunni Muslims are belived that the only real successor of Islam is
(Khalifa, Sultan, Emperor).

The chronological progress of human civilization is judged with time by
(Writers, historian, scientist)

Sultan Mamud was the ruler of Afghanistan of
(Ghazni, Iran, Iraq)
Who was the organizer of Islam religion ?

Who took the title Gangaikonda chola ?
When did Minhaj-i-siraj use the word ‘Hindustan’ ?
In which country Al-Idrisi belong to ?

Who wrote the book ‘Rajtranggini’ ?

Largest number of Medical college situated in—

(a) India, (i1) Pakistan, (iii) Bengladesh, (iv) Srilanka.
In which continent is Costarica situated

(1) South America, (ii) Asia, (ii1) Africa, (iv) Australia.

In 1996 Kerala government was given percent of the entire state budget to panchayets.
(40, 60, 30)

About lakh people die from tuberculosis every year.

(5,7,3)

India is a largest country.

How many percent of people can afford to carry their medical expenses in our country ?

Who was Rose parks ?

Group - B
What are the major componants of environment ?
What is Eco-system.

Write the name of two minerals which is used preparing fertilizer.
Name two biotic componants of environment.



24.
or

25.
or

26.
or

27.
or

28.
or

29.
30.
all?

What is metamorphic rock ?

What are the historical sources to write the medieval History.

When was th battle of tarain took place and between whom ?
What was the feature of Bhaktibad ?

What do you know by “Tripartite struggle” ?
How many division of Islam religion and name them.

Where did the Rashtrakutas belong to at first and under which kings ?
Health cover facilities elassified into how many cotagories ? Write their name.

What is constitution ?
Write two features of public health service.

What do you understand by the term “All persons are equal befor the law”.

What do you mean good health ?
What are the different ways through which the government can take steps to provide health care for

sk sk sk sk s ke sk sk sk sk sk skokosk sk



Periodic Test-1
Class-VIII
Subject-English
Full Marks-40 Time -90minutes

(Instruction: The students belonging to Sadhana and Prerana group will answer only
questions of Section —A and others will answer both Section-A and Section —B)

Section-A (20 marks)

1.  Fill up the blanks with appropriate words: 1 x2=2
i) Ignesious was the manager of a cooperative society in
i)  The silly cricket was accustomed to sing.

2.  State whether the following is true or false(Any two): 1x2=2

i)  Raja Rammohan Roy was a king.
i)  Almas was nine years old.
iii) Meghna was thirteen years old.

3. Pick out the correct choice from the alternatives given againsteach: 1x2=2

i)  The crickets’ cupboard was . (full/empty/broken)
i) Tilly Smith was school girl. ( British/ American/Japanese)
4. Answer the following questions within 15-20 words( Any three): 2x3=6

i) How are Meghna & Almas’s stories similar?

i)  Write about the revolt of 1857.

iii)  What do people say about the elephants of Yala National Park?
iv) Why did the cricket go to the ant?

5. Answer the questions as per instructions given against each(Any eight): 1x8=38
i)  The family refuge in the third floor of the hotel. ( use past form of “take”)
i)  The white man has taken away my kingdom! (Find out the adjective)

iii) Yes all my village men will be ready ( Put punctuation mark)

iv) The Smiths later met other tourists. ( Find out the object)

v) My heart was so light. ( Find out the adverb)

vi) The sepoys marched to Delhi. ( Find out subject)

vii) Sixty visitors were washed away ___ the Patanangala beach. ( Fill up the blanks
with appropriate preposition)

viii) The young cricket enjoyed his good times. (Find out the adjective)

ix) When she woke up she was in a hospital. (Put punctuation mark)

x)  The tremors came early in the morning ( Find out the subject)

xi) Folks call this __ fable. ( Fill up the blanks appropriate article)



Section-B (20 marks)

6. Read the passage carefully and answer the following questions : 1x8=8

National Highways(NH) connect all the major cities. Though they constitute only about
2 percent of the total road length of India, they carry more than 40 percent of the total traffic
in India. There are 77 national highways in India. These are the primary road grids and are
under the direct responsibility of the central Government. The development of National
Highways in the country, aims towards providing hassle-free transport and it is a priority of
the Government of India.

State Highways (SH) are the main arteries of commercial and passenger transport in
the individual states.(they connect every town with the state capital, the national highways
and other commercially important centres). The development and maintenance of the state
highways is under the jurisdiction of the respective state governments.

i) What do the National Highways connect ?

ii)  What length do the National Highways Constitute in India ?

iii) How many National Highways are there in India ?

iv) What percentage of the total traffic in India are being carried by the National Highways?
v) Why is the development of National Highways in our country needed ?

vi) Who looks after the National Highways ?

vii) What is described as the main arteries of the Nation?

viii) Who looks after the development and maintenance work of state Highways ?

7  Write a paragraph on the Tsunami. 5
8 Answer the following questions as per direction. 1x2=2
i) My little sister had (tear) her dress. ( Fill in the blank using the correct

form of the verb)
i) She will write a letter. ( Change the voice)

9 Answer the following questions within 40-60 words. 5
a) “.... he has never yet learnt to behave.” In the light of this, what is the writer’s
opinion about the camel?
Or
b) Describe the Giant’s garden.
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Sample Questions
Period Test — 1
Class : VIII
Subject : Mathematics

Full Marks : 40 Time : 1'/, Hours
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Sample Questions
Period Test — 1
Class : VIII
Subject : Mathematics
Full Marks : 40 Time : 1'/, Hours
Section - A
1.  Answer the following questions :-

(a) Fill in the blanks.

The additive inverse of Z is

(b)  Write true / false.
Sum of the interior angles of a quadrilateral is 360° .
or
Write true / false.
Difference of two rational number is a rational number.
(c) Choose the correct answer.

What is the multiplicative inverse of 6 ?

1 5
(i) e (ii) © (i) 1 @Gv) 6
(d) What is the sum of internal angles of a pentagon ?
or

Show that : il X 6 :ix -7
3 5/ 6 3

() Write two rational numbers between 3 and 5.
(f) Find two rational number greater than —2.
(g) Name the regular polygon with 6 sides.

or
‘Zero’ is called the for the addition of rational numbers.
(h) Find the number of sides of a regular polygon whose each interior angle has a measure of 45°.
or

List the integers that lie between —5 and —2.
. .. 6 . 1
(1)  Multiply 3 by the reciprocal of 26
()  Fill in the blanks.
The product of two rational numbers is always a
2. Answer the following questions :- 2x5=10

(a) Represent these numbers on the number line
7 5
OFENCGES

5

(b) Find four rational numbers between ) and 3



(¢) Find the angle measure x in the following figures.

(d) In a parallelogram RING , ZGRI =70°, Find all the other angles
G N

A
R 1

(¢) Find x+y+z.

60’
40"
y\
Section - B
3. Answer the following questions :- 3x4=12
(a) olve : 7 7

-7 3
(b) What should be added to twice the rational number EY to get 5 ?

(c) Is 2352 a perfect square ? If not, Find the smallest multiple of 2352 which is a perfect square ?
(d) Area of a square polt is 2304 m?. Find the side of square plot ?
4.  Answer the following questions :- 4x2=8
(a) There are 500 students in a school. For P.T. drill they have to stand in such a manner that the
number of rows is equal to number of columns. How many children would be left out in their
arrangement ?

(b) I have a total of 300 in coins of denomination I'l, 2, I'5. The number of I'2 coins in 3 times
the number of I'5 coins. The total number of coin is 160. How many coins of each denomination

are with me.
skoskoskoskoskoskoskoskok
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Sample Question
Periodic Exam- 2019

Class- VIII
Subject : Science
Time : 1/, Hours Full Mark : 40
Section - A
1. Fill up in the blank with correct answer from the bracket : 1x5 =5
i) Damaged seeds world on top of water. (float / sink)

ii) In the harvested crop, the grain seeds need to be separated from the chaff which is
called. (Winnowing / Threshing)

iii) Sprinkler irrigation in more useful on the
(uneven land with sufficient water / uneven land where water is not available)
iv) Cultivation of leguminans plant fixes (nitrogen / oxygen) in the soil)
v) Ureais a . (fertilizer / manure)
vi) Magnetic force is a (contact force / non contact ferce)
vii) In science, a push as a pull on an object is called a (pressure / force)

2. Answer the following question with ‘Yes’ or ‘No’ (Any 5) : 1x5 =5
i) The ploughed field may have big pieces of soil called crumbs. (Yes / No)
ii) Rice is a Rabi crop. (Yes / No)
iii) The supply of water to crops at different intervals is called irrigation. (Yes / No)
iv) Dried neem leaves are used for storing food grains at home. (Yes / No)
v) Continuous growing of crops does not makes the soil poorer in certain nutrient. (Yes / No)
vi) Force applied on an object may not change its speed (Yes / No)
vii) Liquids and Gases exert presure on the walls of their container. (Yes / No.

3. Write the correct option (Any 5) : 1x5 =5
(a) ‘Friend of farmer-
i) fertilizer and manure ii) soil microbes and earthworm
iii) cultiviators iv) a seed drill
(b) Which of the following us a manure-
i) urea i) Dead remains of plants and animals
iii) ammonium sulphate iv) potash.
(c) Crops that cultivate in winter are called-
i) Rabi crop ii) kharif crop iii) ‘a® and ‘b’ both iv) none of the above
(d) The cutting of crops after it is nature-
i) sowing of seeds ii) threshing iii) Harvesting iv) manuring
(e) Which one of the following is not a source of water for irrigation-
i) well i) panel
i) river iv) soll

(f) The result of interaction between two objects-
i) presure ii) force i) speed iv) none of the above



(g9) A car as scooter also comes to rest once its engine is switched off. It is due to-
i) muscular force ii) magnetic force iii) frictional force iv) gravitional force

4. Answer in one word. (Any 5): 1x5 =5
(a) Name a weedicide.

b) Write the name of a rabi crop.

c) Which device is used for harvesting and threshing together?

d) In which type of irrigation method water falls drop by drop just at the position of the roofs?
e) Which bacteria is present in the roof nodules of leguminons plant?

f) Which force is responsible for pulling the objects towards earth?

g) What is the force perunit area of a surface known as?

o~ o~ o~ A~ o~ o~

5. Answer the following question :- (any one) 5
Write any 5 of the agricultural practices you have studied.
or

What do you mean by Animal husbandry ? Name three poultry products that we obtain
from farm ?

Section -B

6. Answer the following questions (Any 5) 2x5 =10
a) What do you mean by vermicomposting?
b) How does rotation of crops helps to replenish soilnutrients?
c) Differentiate in between manure and fertilizer (any two)?
d) What are weeds?
e) Name any two harvesting festivals celebrating in India.

f) Give two examples of situations in which applied force causes a change in the shape
of an object.

g) Define electrostatic force.

7. Match the followings (Any 5) : 1x5 =5
Coloum-A Coloum-B
i) Manure NPK and super phcsphate
ii) Fertilizer cultivator
iii) tractor cowdung
iv) Kharif crop rice
v) Store house storing food grains.
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Sample Question
I Periodic Examination
Class :- VIII
Subject : Social Science

Full Marks : 40 Time : 11/2 Hours

General Instructions

1.

2
3.
4.
5

10.

The question paper has 30 question in all.
All question are compulsary.
Marks are indicated against each question.
Question No. 1 to 20 are very short question type and each question caries one mark.
Question from serial nomber 21 to 30 are 2 marks question. Answer of these questions should not
exceed 60 words each.
Section - A
Which one of the following is not a natural resources ?
(a) Sunlight, (b) River water, (c) Text Book, (d) Soil.
Man made resource is .
(a) Tropical forest, (b) Life guard medicin, (c) Fresh weather, (d) Cool.
or
The major reason of water polluation is
(a) Fishing in water bodies, (b) bathing in water bodies,
(c) Mixing lime in water bodies, (d) discharging waste materials in water bodies,
Renewable resource is
(a) Soil, (b) Cool, (c¢) Minaral oil, (d) Iron ore.
The black soil of Maharastra resource.
(Aeteeal resource, Potential resource, Renewable resource)
Anything that can be used to satisfy a need of man is
(Resource, Foodstuff, Patent)
or
Vulture is known as of the environment.
(Eleanser, Protecter, Poacher)
Give an example of potential resource.
Which type of resource the is wind ?
or
Which type of natural resource is water ?
Write a name of non-renewable resource ?
or
In which tree does silk worm grow ?
Indian history is divided into
(a) Two periods, (b) Tree periods, (c) Four periods, (d) None of these.
Dates are important in history, because
(a) Events, (b) Calenders, (c) Years, (d) None of these.



11. The British thought surveys were important for effective administration — True/False.
or
The Mughal empire became stronger in the eighteenth century — True/False.
12. Official documants help us to understand what the people of country think — True/False.
or
Maratha kingdom were located mainly in the northern part of Inddia — True/False.
13. Who was the last Viceroy of India ?
or
Who was the Chief Justice of Supreme Court of Calcutta ?
14. Who wrote the book ‘A History of British India’ ?
or
Who was the Nawab of Bengal after Mirzafor ?
15. How many periods did James Mill divied Indian history ?
or
Which Mughal emperor issud a Farman granting the company to trade duty free ?
16. Non Muslims are not allowed to build a temple of church in
(a) India, (b) Soudi Arabia, (c) Nepal, (d) None of these.
17. Hitler was the ruler of which counntry ?
(a) India, (b) Pakisthan, (c) Germany, (d) South Africa.

18. The constitution of allows individuals the freedom to live by their religious beliefs and
praetices as they interput these.

(India, Pakisthan, Soudi Arabia)
19. The most important aspect of secularism is it’s of religion from the state power.

(amalgamation, eonsolidation, separation)
or
The number of selected members in the upper house of parliament is
(230 /250 /240)
20. What type of country is India considered according to Constitutional instructions ?
or
What are the divisions of goverment according to constitution of India ?
Section - B
21. What is renewable resource ?
22. What is known as conservation of resource ?
or
Write two steps of water conservation.
23. What is potential resource ? State with example.
or
Write two reasons of landslides.
24. Why are dates important in history ?
or
What is doctrine of lapse ?



25.

26.

27.

28.
29.

30.

Why did the British preserve the official documents ?

or

How did the assumption of Diwani benefit of the East India company ?

What is the problem with the periodisation of Indian history that James Mill offers ?
or

Write two main causes of conflict between Siraj-ud-doulah and East India company ?
What is secularism ?

or

Why dose a demoeratie country need a constitution ?

Write two features in Indian secularism.

Which matters are assured by secular country according to Constitution ?

or

How many number of Fundamental Rights are there in Indian constitution name them ?
Why is it important to separate religion from the state ?

or

Why do we need a parliament ?
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